Nom : …………………… …………………                                                   Le ……………………………………………..
Prénom : ……………………………………………..
LE PASSAGE PAR LA  DIZAINE
Les amis de 10

10, c’est

	6
	5
	8
	1
	9
	3
	7
	5
	2
	1
	7
	8
	5
	4
	3

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


Arriver à la dizaine supérieure

	25             ….

  
	39             ….  
	41             ….  
	67             ….  
	54             ….  

	96             ….

  
	24             ….  
	98             ….  
	59             ….  
	7             ….  

	63             …

  
	31             ….  
	86             …
	73             ….  
	94             ….  

	21             ….

  
	77             ….  
	42             ….  
	61             ….  
	9            ….  


Résous en passant par la dizaine

	
67 + 8 = ………………………………………
84 + 7 = ………………………………………
65 + 6 = ………………………………………
56 + 6 = ………………………………………
33 + 9 = ………………………………………

	86 + 7 = ………………………………………
32 + 9 = ………………………………………
42 + 9 = ………………………………………
88 + 8 = ………………………………………
69 + 8 = ………………………………………



